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Q1. Give one word for the following: (72X 14 =7)
a.  The oldest Indian language
b. The forbidden city of Tibet
. The last World Cup took place in the year
d.  The Indian Batsman who is popularly known as
The Wall
e, Sushil Kumar is associated with the sport of - .
i Akbarnama' is written by
g. ‘Al India Institute of Medical Sciences’ is situated in
h. One who collects secret information about another
country is known as B
B The planet which is not named after a God or
Goddess
j. The capital of Egypt e
k. The biggest residential building in India
. The 'milk city' of India =
'm.  The seaport of Kochi is located in
n. The smallest union territory R .
Q2. Give the full forms of the following abbraviations: (1x2 =2)

b. NRI. - L = e
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Q3. Identify the famous personalities with the help of the description given: (V2 x2=1)

4. He is popularly known as the ‘Iron Man of India’. He was Home Minister and Deputy
Prime Minister under Pandit Jawaharlal Nehru.

b. He was a German dictator, popularly known as Fuhrer. He aspired to make Germany the
mos{ powertul nation in the world. He ruthlessly persecuted and destroyed all opposition,

Q4. Choose the correct option: (2 x10=5)

a.Which style of embroidery is Lucknow famaus for?
(i) phulkari (iii) chikankari

(il) zardozi (iv) kantha

b-What do we call the fear of closed spaces?

(1) autophobia (iii) necrophobia

(if) hydrophobia (iv) claustrophobia
¢. Caddie,tes and put’ are terms associated with the sporis of

(i) chess | (i) golf

(i) lawn tennis (iv) boxing

d.Which sport is Baichung Bhutia associated with ?
(i) wrestling (iii) shooting
(il) football (v) hockey
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e.What is the study of the nature and function of human mind known as?

(i) Psychology (iii) Physioclogy

(i) Neurology | (iv) Biology
t.What Is unit of measurement of heat?

(i) decibel - (iii) bar

(i) hertz (Iv) calorie

g.‘Loﬂvre’ S
(i) an artgallery in Paris (iii) ajail in Paris
(i) a seaport in Turkey (iv) the birth place of Jesus Christ

h.Gobi desert is located in

(i) India (ii)) China
(i) Pakistan - (iv) Chile
i.The Soviet cosmonaut, the first person ta go into the space on 1210 April, 1961 was
() Yuri Gagarin | (i) Valentina
(i) Neil Armstrong (iv) Edwin Aldrin

j.The ‘Origin of Species’ is written by
() Adolf Hitler | (i) Adam Smith
(i) Rousseau (Iv) Charles Darwin
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Current Affairs (1x5=5)

Q1. Which Indian wormen wrestler has won a bronze medal in Rio Olympics, 20167

Q2. Which day 1s celebrated as ‘Organ Donation Day’ in India?

03 Name the typhoon which recently swept across Southern China and Hong Kong.

Q4 Which state has become the first state to give pension and food benefits to fransgenders.

Q5. Who won Nelson Mandela Award 20167
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i
ii)
iii)

)

01,

Read the questions carefully.
Number the answers as given in the question paper.
Write in a neat and clear handwriting.
Write the answers in complete scntencés.
SECTION-A (READING)
Read the passage given below and answer the questions that follow (7)

Newspapers are one al the oldest ways to get news Lo many peaple. The word
‘newspaper’ conveys the idea of what it exactly is - 4 paper on which news of general
interest is printed and circulated. News can be simply defined as importanl new
events. Publishing the news is not the only role of newspapers in informing the
public. Advertisements, which bring inn the income that is necessary for publishing,
are a major feature of newspapers.

Many newspapers carry the writings of several columnists or writers. Mosi newspapers
pick columnists with different opinions so that the reader gets a range of views
aboul important issues. Newspapers also contain editorials which are opinlons about
different topics. Most newspapers also publish letters from thelr readers un the
editorial page. |

The organization that publishcs a newspaper has a chief executive called the
publisher, The chief editor, news and cditorial staff, artists, photographers, circulation
manager cte. all report to the publisher. Reporters gather the news by a variely of
ways. When a reporter completes a story, edilor corrects it for accuracy, grammar
and spellings. Then graphics and illustrations are added. .

The use of computers has simplified the task. Most of the pages are designed on
computers. Electronic versions of some newspapers are available Lo us. Zach day’s
newspaper must be ready by a specific time or deadline in order to he delivered to
readers on time.

(a) Define the word newspaper in a sentence. (1)
()  What is the major source of income for the newspapers? (1)
(¢) Why do the newspapcrs pick columnists with different opinions? (1)
(d) What is published in the editorial page? (1)
(e) Name at least two stall members who report fo the publisher. (1) |
() Find words from the passage which mean the same : ' (2x4=1)

(i)  distribution (i) visual presentation

(B-1)



(£) Complete the sentence - | (1)

_has simplified the task of printing the newspapers.

=

Read the poem given helow and answer the questions that lollow (G)

The most important thing we've learned
So far as children are concerned.

Is never, never, never let

Them near your television set

Or better still, just don't install

The idiotic thing at all.

They sit and stare and stare and sit
Until they're hypnotised by it.
Until they're absolutely drunk
With all that shocking ghastly junk.

It rots the sense in the head!

It kills imagination dead!

It clogs and clutlers up the mind
It makes a child so dull and blind
He can no longer understand

a fantasy, a fairyland.

Oh books, what books they used to know,
Those children living long ago!

So please, oh please we beg. we pray,

Go throw your TV set away

Andl in its place you can install

A lovely bookshelf on the wall

Then [ill the shelves with lots of books,
Ignoring all the dirty looks.

They'll now begin to feel the need

Of having something to read

And once they start-oh boy. oh boy!

You watch the slowly growing joy

That fills their hearts. They'll grow so keen
Theyll wonder what they'd cver seen

In that ridiculous machine.

(a) What advice does the poet give to the parents in the beginning of the poem?

(1)

(h) Why do you think the poet says that the children get hypnotised while watching
T.V.? (1)

() What are the harmful effects of T.V. on the minds of the children? (2)

(B-2)



Q3.

Q4.

Q6.

Q7.

Q8.

(d) How can the parents inculcate the hahit of reading amorng the children? (1)
(6)  According to the poem how will the reading habit help the children? (1)
SECTION-B (WRITING)

Read the [ollowing telephonic conversation and write the message i about G0=70)

words ! (4)
FHlesh : Good evening! May [ speak to Raman®

Priyva @ lam aorfy, he s not al home right now.

Hiteshi . Couldyou please convey @ messagt to him?

Priya :. Yes, | will.

Hitesh : Please tell him that the schedule for the practice of the upcoming play

has been changed. Now, he has to reach the school auditorium at 65.30
o.m. tomorrow. He must carry the script of the play. his identily card
and a change of clothes. In addition he must bring his lunch and water
hottle as the practice will continue till 1.30 p.m.

priva  : O.K. I'will convey this (o him.
Hitesh : Thank you.

You are assigned the responsibility lo organise the forthcoming and much awaited
Annual Sports Day. Draft a notice in about 50 words inviting the students to
participate, adding all the necessary details such as venue, tima, teams, prizes ete.

(4)
Write a letter of apology to your friend for not attending his/ler birthday explaining
the reason and the circumstances. (&)
_SECTION-—C (GRAMMAR)
Complele Lthese sentences with the correct question tags : (2x]1=3)
() These plants are casy to grow, —
(b) Uncovered food from the vendors should be avoided, B

Fill in the correct plural form of the given noun and complete the sentence @ (4x¥a=2)

(a) [ needed my parents to go {or a movie. (permission)

(h) Allour have shown a huge profit this year. (company)
(¢) Several were stranded on the island. (tourist)
(d) All the _ became active on seeing a piece of cheese. (imouse)
Fill in the correct pronouns in the given sentences . (4xVo=2)
(a) The woman was happy because _ had recovered from _
illness,
(b) Rehana had three children. She controlled sternly and solved all
problems.

(-3



Qo.

Q10.

Q11.

Q12.

Q13.

Ql4.

Q15.

Fill in the hlanks using relative pronouns : : (2x1=2)

(a) The car is parked near my louse is new.

(b) The hoy __is wearing a blue jeans plays a perfect game. _

Fill in the suitable articles Lo complete the given sentences : (AxVe=2)
- Trevor was artist. He was - strange rough fellow with -

hrown spot on his fuce. He was master of his profession.

Fill in the suitable prepositions : (4xla=2)

(a) This brand clothes has been promoted a famous actor.

(b) The fuundatioxi of the city, Venice is shaking __the sea bul no one

seems to be bothered __ it.

Fill in the correct collective noiins in the given sentences . (2x1=2)

(a) Tiya forgot to pick the __ of keys from the table.

(b) The ship landed on a. __ofislands in the ocean.

Rearrange the following words to make meaningtul sentences : (3x1=3)

(a) my mother / greatest / support / has / always / been / my
(L) keen / the foreigners / Taj Mahal / always / arc / visit / to / the
(c) great warrior / Ashoka / was / as a / Indian history / known / the / in
Change the voice of the given sentences and rewrite them (3x1=3)
(a) Rahul bought cight shirts from the market.
(h)  Siya has completed the work.
(¢) The students werc singing the songs. |
SECTION-D (LITERATURE)
Read Lhe extracts given below and answer the questions that follow : (3x1=3)

(A) ‘This must be stopped! [ am ashamed
That such as I should have to be
In the same world with such as he.’

(a) Who are referred to as T and ‘he’ in the above lines?
(b) © Why did the speaker fcel ashamed?
(¢) Do you think the speaker was right to think so? Why /Why not?

(B) “Well. I'l try", he said. He looked at the earth and said, “Stop rotating, will
you'?” faridi=t))

(a) Who is the speaker in the above lines?
(b) Why did he order the earth to stop?
(c) What happened when he gave this order?

(B-4)



(J18. Answer the following questions in 30-40 words each : | | [,’3:{236]

317,

Q18.

219,

@21

()  What does ‘the bill of [are’ refer to in the story ‘The Luncheon? Why was the
narrator stariled when he looked at it?

(b)  Dr. Raman's friendship with Gopal was an appropriale example of true
[riendship. Do you agree? Why/Why not?

(c)]  Soon alter returning from the restanrant, Mr. Fotheringay felt sure that he
could perform miracles. What made him think so?

Answer the following questions in 30-40 words each : (2x2=4]

(a)  The speaker in the poem "The Fog' felt really scared when the fog grew thick.
Who helped him and how?

(b) What was the reaction of the young lady when she saw the dead body of her
hushand in the poem ‘Home They Brought Her Warrior Dead'?

Answer the following question in 70-80 words : ' (lxd=4)

The poem "The Fog' conveys an important message. Describe this message in your
owIl words.

OR

The warrior in the poem "Home They Brought Iler Warrior Deadl’ is rightly described
as ‘the noblest foe'. Elaborate.

answer the following question in 80-100 words : [1%5=3)

The visitor and his companion made a clever plan to steal the ruby bul couldn't
cxecute it. (vive reasons with reference to the story The Rowland Ruby’,

OR

Imagine you are Dr. Raman. You worked against your principles and provided a
false hope to your friend, Gopal. Write a diary entry justifying vour action and feelings.

. Answer the following question in 30-40 words : - (1x3=3)

Who were the people who reached the ‘Admiral Benbow' inn after the blind man's
death? What did they decide tc do when they discussed the details wilh Jim?

Answer the following question in 80-100 words : [Ix5=5]
Why did the captain suffer a stroke? Who helped him to revive und how?
OR

Jim and his mother opened the captain's sea-chest immediately after his death.
What did they find in it and what did they do thereafter?

(B-5)
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SUBJECT : MATHEMATICS

Time : 3 hrs MM : 80

General Instructions :

i)
ii)
111)
iv)
v)

vi)

Gl
Q2.

B

(39.

All questions are compulsory.

Read all questions very carefully.
Questions 1 to 10 carry 1 mark each.
Questions 11 to 18 carry 2 marks each.
Questions 19 to 28 carry 3 marks each.
Questions 29 to 34 carry 4 marks each.
Find the place value of 5 in 2.305.

Diameter of the Sun is 1.400,000,000 m. Express the
above distance in standard form.

Write two English letters which have reflectional symmetry
ahotit both horizontal and vertical mirrors.

y
Solve; 3+ (F]

In ALMN, Q is mid point of MN. Identify the altitude.
L,

Delermine the integer whose product with (=1) is 0.
Find.w 8%= 1Y
Name any two geometrical figiires with no line of symmetry.

Find the complement of 72°.

Q10. Write a negative and a positive integer whose sum is 1J.

(1)



Qi1

Q12.

Ql4.

Q1l5.
Q16.
SHE

Q18.

Q19.

Q20.

Q21. A 13m long iron rod is placed

Use the sign of <, » or = in the box to make the statement
[rue:

34+ 79-(-34) [] 79 +34+(-79)

The weight of 6 sweet boxes s 4,32 kg, Find the weight of
1 sweet box.

. Can we have a rotational symmelry ol order more than

onc whose angle of rotation is 18°7

Draw a number line and represent = it.

Express 3bmm in m and km.
Identify the greater number : 3° or 4°

Given that the lengths of the two sides of a triangle are
5c¢m and 9em. Find between which two numbers will the

third side lie,

If 1]l m and t is a transversal, find the measureofa. b, ¢

and d.
4o t
£ s
¢

< | §
/7 o

A vepetable merchant gets a profit of ¥ 100 per bag on
onions sold and a loss of ¥ 30 per bag on potatees. It he
sells 30 bags of onions and 50 bags ol polalves on a
particular day, what is his profit or loss?

~ 44

Determine the values ol ‘X,
'y and 'z’ in the given figure. £

against a wall, The distance
of the foot of the iron rod

(2)



Q24.

Q25.

Q28.

- figures.

. In the given figure, PQ) =

. Caleulale:

from the wall is 5m. How high up the wall does e iron
rod reach?

PR and £SRT = 40°, find
the values of p, q and r.

(a) 0.512%x 100

1 2
(b) 3 3

Write the following rational numbers in ascending order:

B 5l =0
& 2. 13

Simplify using laws ol exponents :

27 x10% 7"
3549

. Find the [ollowing using suifable propertics :

(a) 1401 x (-82) + 1401 % (-18)
(h) 102 x (-29)

. In the given [igure, identify the following : C
(a) Two pairs of adjacent B
angles
(b) Two linear pairs I
& i
(¢) A pair of adjacent D ¢, A

complementary angles

Find the order of rotational symmetry of the following

(0 B =3 1B Y
D
3)

5-



Q29. (a) Delermine whether the triangle whose
lengths of sides are Gem, cm and
10cm is a right angled friangle.

4
(b) AM is a median of a /"
{
triangle ABC. 5 sl ﬁf § -
s AB + BC + CA > 2AM?
()30. Express 324 x 432 as product of powers of prime faclors

only.

Q31. (a) A taxi driver started his frip from the taxi stand
towards south. He covered 75km in this direction
to reach town A, From there, he travelled towards
north along the same road and covered 890 km 10
rcach another town B. How far and in which direction
is he from the stand?

) Evaluate: [(-49)+7]+[20 - (-1)]

Q32. Check whether [|| m in each of the following figures.
' ¥

|
Q33. (a) In a basket, there are 120 fruits. 5 of them are

1
pineapples. 7 of them arc apples and the remaining

are bananas. Find the number of (i) pim‘:épples
(ii) apples and (iil) bananas in the basket,

(b) Write any one benefit of eating fruils.

| 3 -1
Q34. Find three rational numbers between 3 and =

4]
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Time ; 2% hts MM : 80

General Instructions ;

i)
i1)

iii)

Q1.

This paper consists of thrae seclions A, B and C.
Marks are indicated against each question.

Draw neat and well labelled diagrams wherever
required.

SECTION-A (PHYSICS)
Answer in one word or one sentence each : (4x1=4)

()  Soap bubbles appear colourtul when seen in sunlight.
Give reason.

(b) A car covers 20km in first hour and 30km in the
next hour. Identify the motion of the car.

() Rohan was unable to see light from the candle
through a bent pipe. Give reason.

(
n

(d) At the start of Lhe journey, odometer of a car read
9641 km and on reaching the destination il read
2666 km. What is the distance travelled by the cur?

Fill in the blanks : (4x1=4)

(a) The bouncing back of light aller striking a surface
is called ________ oflight.

(1) ie an ancient time measuring device whiich
works only in the presence ol sunlignt.
(c) Word ROAD will appear as in a plane mirror.

(d) Movement of plancts around the Sun represents
maotion.

(1)



&3, Give pne lechnical term for the fo]lﬂwirlg : (2x1=5)

(a) A device nsed (o Measure rhe speed in automabileg

(b)  The image of ap object that canpar be projected op
a wall.

@4. Answer briefly : {3x2=5)

(38)  Look ai the given figure angd ANSWer the fol'lnwmg
questions :

OBJECT X IMAE

(i) What are the characteristjcg of Lhe image
produced by Jens when Kepi at <0V distanee |
from the Object? P 1?

(b) A bullet trgin moves with a speed of 540 km/hr.
Conver{ its speed in S.1. unit.

(c)  Which type of mirror is usad in the following cases?
(i) Rear view mirror of the car.
(i)  Mirror used by a dentist,
Justily yvour answer in each case.

Q5. Answer the following questions - (2x3=6)

(@] Observe the diven graph Y Tiger
I'Epresenting the motion b
of two animals aﬂd

answer the following
quesijons :

Dlstance

(i) Which animg] is
Hoving faster? O

|I‘—H.
[
™



i) Which type of motion is shown by the tiger
and the woll in the graph?

(i) Write any one way to conserve wildlife,

(h)  Two types of mirrors are shown below ;

p

(i) [dentify mirrors A and B.
(if) ~ Which mirror will produce the fallowing type
of images?
(1) Real and inverted
(2) Virtual and erect
@0. Answer the following questions (3+2=5)
(a)  Ankil travels to his school by bus which moves at g

speed o 15 km/hr. He reaches school in 20 minutes.
Caleulate the distance covered by Ankit in kilometre.

(b)  Seema is ohserving her image in a plane mirror.
The distance belween the mirror and her image is
6m.

()  Whatis the distance belween Scema and the
mirror?

(if)  If she moves 2m towards the mirror, what is
the distance belween Seema and her image
now?

SECTION-B (CHEMISTRY)
Q1. Answer in one word or one senternce - (4x1=4)

(@)  Rampur bushuir is an Indian breed of sheep., Name
the state where it is found and which quality of
wool is obtlained [rom {t?

(3)



i,

Q3.

Q4.

Give reason - Water obtained alter biological’
treatment of wastewaler is chemically treated with
chlorine and ozone belore releasing il intov=he
distribution system.

P and 'Q’ are two water horne discases, Name ‘P
and 'Q".

The wool fibres obtained after dysing are straightened,
combed and rolled inlo yarn. Complete the given
analogy with respect to these fibres

longer fihres : ______ :: shorter fibres - woollen cloih

Fill in the blanks : (4x1=4)

a)

(h)

(c)

(cl)

(a)

(b)

The suspended and dissolved unpurities in the sewage
arc called

removes the floatable solids like oil and
grease from wastewater.

. i$ a step involved in the processing of wool
to separate hair of different texture,

is the breed of the sheep whose wool is
used for hosiery items.

Give a technieal term for the following : (2x1=2)

Washing of sheared skin with hair in tanks to remove
dust, dirt and grease.

The design of toilet in which human excreta is treated
by earthworms to produce a resource that enhances
soil fertility.

Answer briefly : (3x2=6)

a)

Physical (reatment of waste water in WWTD involves
use of different devices. What is the use of the
[ollowing devices in removin ¢ the physical impurities
[rom wastewater?

(i)  Barscreens (i)  Scraper

Organic waste oblained after the physical treatment
of wastewater is termed as sludge.

(4)



Explain how sludge jg treated,

(i) Write 1Y Two 1ge

8 of biogas produced afte;
the [realment of g1

udge.

(c] Which twe €58ential condiliong sh ould e Congiderer
by a silkwor farmer during 1arng of sillgnaipg
in the €gL stage?

Q5. Answer the tollowing questions - (2x3=g)
@ m s ] her

pollut
dowyy the o

ants at home js to ¢l are Iea._u;ing
rain. Write dny
Practices that Can Minimjge +

three hoyse kﬁ&pmg
Vaste remova] at home,

Wha héppens L0 the proteqy fibreg Secreted by the
caterpiljaro



SECTION-C (BIOLOGY)

Q1. Answerthe following queslions inone word or ane sent” i{i&::
(431=4)

(a) Mentlon the signilicance af Dacterium Rhizobiuin
which lives in the root modules of leguminous plants.

(b) The digestive (ract and the associated glands together
constitute the digestive system. Name any two

assncialed glands of humarn digestive syslem.
() Deline cellular respiration.
(d) How does exchangé of gases pceur in earthworm
and fish?
Q2. Fill in the blanks : (3x1=3)

(a) Thetny POTes present on the surface of the leaves
and surrounded by suard cells are __——

(b) Grass is rich in . a type ol carbohydrate

that can not be digested by humans.

(c) The qumber of times a persen hreathes in a minute

is termed as
Q3. Givea technical term for the following . (2x1=2)

(a) Theas sociation in which some 0rga nisms live together
and share shelter and nutrients.

()  Itisthe process (ound in grass eating animals where
partially digested food returis to the mouth in small
lumps for proper digestion.

Q4. Answer briefly :
(a) (1) Name and define the
type ol heterotrophic
Autrition, exhibited by
{he given organisim.

(i) State the WO
conditions required by
fungal Spores {o
germinale.

(&)



(b)  Stomacy is a (hi

cl-walled bag and the widest pary
of the alimentary eansl The i

mner lining of stomach
"3 Produces and re]

ASEs many secretione Name any
(WO secretions and state theiy [unctjyn.

to Iepresent this Lype of
respiration.

Q3. Answer the following qUestions in deiaj] .

[22{3261
@ () Draw s well labelled diagram of the process
ol synthesis of foae I green plants.
M) M s

> 4 green coloured Pigment present
plants, Identify ‘M’ ap

d state its lunction.
(b)]  Mrs, Smita tg

ok her yo ung bahy
Was sullering from diarrhoea. Tj
her to give ORg as a remedy,

(i) What are the VArious causes of diarrhgeg?
(ii) Expand the ter ORS.

(1ii) Why does diarrhoes become fata] under severp
conditipng?

Q6, Study the diagram of hym
below ang answer the follp

o a doctor a5 she
1¢ doctor advised

All Teéspiratory system given

Wing questions. (5)

2 / = " .

(@l Lape] the parts 1. 2. 3 and 4.
(h)  What happens in
Exh;}_laf_iou?

(C) Why do we often snceze When we inhgle 4 lot of
dust-lacen ai12

(7)

1¢ lungs during in halation ang
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SURJECT : SCIENCE (MULTIPLE CHOICE QUESTIONS)

Time : 30 minutes - MM : 15

General Instructions :

Q2.

Q3.

Q4.

Q5.

“la) A S Busl | - | }

Attempt all the questions.

There are 15 multiple choice guestions in total. Only one of the options in
every guestion is correct. Put a (v) against the correct option.

Each guestion carries 1 mark.
Do not use white fluid on these sheets.
Use only pen to mark the answers,

Saloni is trying to sec her face on the outer surface
of a spoon. lmage produced will he -

() erect and virlual - | (b)  erect and real

(¢) inverted and virtual o (d) inverted and real

A pendulum is said to complete one
oscillation if it moves from. | |

b) A-C—-B

) A=C-=A - A Cj iz

d B-C—A ® |

Neha burnt a paper using o ._ _lens becauseit th&lsun rays.
(a) cnﬁﬁava, converges | (b) convex, diverges

(¢) concave, diverges (d) convex, CONVCrges

Time taken by a pendulum to complete half oscillation is 2 seconds. What is ils time
period? |

(a) 1 second | | _ (b) 4 seconds
(c) 2seconds , , (d) 16 seconds
When Newton's disc is rotated at a high speed, _____colours mix together 10

give white colour.
(a)  four | (b)  six
(c) five (d) scven

(B3-1)



0B,

O, -

(%3,

The term sericulture is used lor

(@) - culture of bacteria | (b) rearing ol sillworms
() making silk fabric [rom sills yarn (d] ~ produclion of sarees

The general Process that takes place at 2 sheep shearing shed 18

{a) removal of [leece

(h) . separating hair of different Lexture
(c) washing of flecce [ibre to remove greast
d T Olhng of sheep libr ¢ into yarn

India has a variely of silk moths which lock very different from one another and
yield silk yarns having different te'ichjma Which of the following is not a typc of sillt

" found in India?

QY.

q10.

3 L

Q12.

(a) mulbt‘:rry silk | (h)  lassar silk

()  mooga sillk | ()  moth silk

Used water is wastewaler. Wasle waler could be reused. Which of the lallowing is an
example of waslewater?

(a) water trickling from a damaged lap () water coming out of a shower

(¢) water flowing in a river (d) water Cb'miﬂg out of a laundry

Activated sludge is about 97%

(a) Oxygenl | . ! (b) nitrogen
(C) _"watﬁr (d) carbon

Our teeth vary in uppearance and perlorin different functions, Accor dm_glv they are
given different names. Which of the following pair of teeth differ in structure but are
similar in' function?

(a) canines and incisors (b) molars and premolars
(c) incisors and molars (d) premolars and canines
Given below are some food items

(1) beﬂcd rm-& - (ii) glucose 501utinﬂ

(i) hoiled and mashe;ci patdtu e (iv) mustard oil

Which of the above will give bluc blagl aglour: with indine aohiton?

(@) () and (ii) | () (i) and (iii)

© () andGi @ ) and ()



T i A

(¢ 1 The fingél' Ele ul_i,i'gI‘OWt}le of Amoeha help Lo ilﬂgéﬁi food. However the fnger lilke
outgrowths of human inlesting help to -

(a)  digest the fatly foad subslunces (h) inake the focd soluble
(c] absorb the digested lood ) absorb the undigested foud
Q14. Exhalation is a process that

7]

L

[ releases oxygen which reucts with lime water to turn it milley in appearanee,
(h)  releases carbondioxide which makes lime water milky.
() releases nitrogen which makes lime waler blue-black.
(d) rcleascs hydrogen which makes lime watcr pink.
(15. Observe the given diagram and label the parts marked as ‘X and Y.
(3)  guard cells; stoi'ﬂaltal opening |
() sLumaltal opening; gu:arﬂ cells
() nucleus: cyloplasm

(d)  cytoplasm: nucleus




SA-1 ({CLASS-VIY) 8/2018
SUBJECT : FRENCH

Time : 3 hrs MM : 80
General Instructions :

(i)
(ii)
(iii)
(iv)

Al.

Read all the questions carefully.

Write in a neat and clear handiwriting.

Write the answers in complete sentences.

Number the answers as given in the guestion paper.
SECTION-A [COMPREHENSION ECRITE]

Lisez:

Bonjour! Nous habitons a Paris. Notre maison est pres
de la tour Eiffel. C’est un tour de fer. Nous visitons le
musée du Louvre., C'esl un musee ou on trouve des
peintures de Mona Lisa. Nous decidons d'aller a Lyon et
a Grenoble. D'abord, nous allons & Lyon. Mon oncle habite
a Lyon. Nous visitons la belle eglise de Notre Dame. Elle
s'appelle La Basilique de Fourviére. Nous visitons le mmusée
des Beaux - Arts et le theatre de Guignol. Puis, nous

allons & Grenoble. C'est une trés belle ville. Cette ville
est pelite. C'esl une ville d'écoles, d'instituts ele. Nous
nous amusons beaucoup.

Al.1 Dites vrai ou faux. (3x1=3)

(a) Le musée du Louvre est une école.
(b) La Basilique de Fourviére est &4 Lyon.
(¢)  Grenoble est une grande ville francaise.
Al.2 Choisissez la bonne reponse. (2x1=2)
(a) IIs visitent.:
(i) le théatre de Guignol
(i) lécole
(iii) la maison |
(b) Le musée du Louvre a;
(i)  des slylos (i),  desjournaux
(iif) des peintures de Mona Lisa

(1)




A2

Al.3 Répondez. (2x]1=2)
(a) Décrivez la tour Eiffel dans une phrase.”
(h) Nommez un monument de France,

Al 4 Eerivez linfinitif. (2x1h=1)
(a) habitons — (b) ecst—

‘Lisez

Caroline et sa famille

Caroline habite 4 Paris en France avec ses parents. Elle
est pentille et intelligente. Caroline a 17 ans. 5a mére
travaille dans un hopital. Elle est ifalienne ef lc pere de
Caroline est aussi médecin mais il est frangais. Le pére
de Caroline aime la musique classique et il n'aime pas la
tele. La mere de Caroline aussi déteste 1a télé. Les parents
de Caroline ne regardent pas beaucoup de télé. Caroline
a aussi un [rere. Il s'appelle Pierre, Il travaille dans une
entreprise. I1 a 23 ans et il voyage beaucoup. Il aime la
cuisine francaise et italienne. Caroline n'aime pas voyager.
Elle n'aime pas la montagne.

Caroline préfére la cuisine indienne. Elle mange beaucoup
de plats indiens.

A2.1 Dites vrai ou faux. (3x1=3)
(a) La mére de Caroline est médecin.
(h)  Pierre aime voyager beaucoup.
() Le pére de Caroline est francais.
A2.2 Cholsissez la bonne réponse. (2x1=2)
() La meére de Caroline est:
(1}  francaise (ii) indienne
(iii) italienne
(b) Le frére de Caroline s'appcllc :

(i) Perre (ii) Pierrc
(iii) Peire
A2.3 Trouvez le coniraire. | (2x1=2)
(@) alme = ()  peu#

(2)



Bl.
B2.
B3.
B4,

Cl.

C2.

SECTION-B [EXPRESSION ECRITE]

Décrivez volre anniversaire et dessiney aussi. (5)
Décrivez une ville francaise de votre choix. (=)
Ecrivez les cing nationalités. [Masculine et Féminine], (5)
Faites des phrases. (5x1=5) -
(a) voiture (b)  maison
(¢) rouge (d) manger
(e) salade
SECTION-C [GRAMMAIRE]
Conjuguez les verbes au présent, (Dx1=5)
(@) Vous ____ (comprendre) le francais?
(b) Je —_ (gagner) beaucoup d'argent.
() Nous _______(aller) au cinéma avee nos amis,
(d)  Tu___ ____(remplir) cette bouteille d'eau
e} Elle_ (partir) pour Paris ce soir,
Choisissez 1a bonne réponse. o {10x¥%=5)
(a) Je veux pain. (du, de la, des)
(b) Hveutaller école, (au, 4 1a, 4 1)
(c) Cest__ femme de Paul (I, 12, 1e) .
(d) Cesont__ = stylos. (du, des, de la) -
(¢)  Je donne les cahiers Marie. (au, & la, a).
() Lafamilleva__ restaurant. (au, ala, al)
() Lesenfants ___ M. Robert sont méchants, (du.
de, des)
(li) B cahier de Marie est dans mon sac. {la, les.
le)
() Jaime musique classique. (le, les, la)
)  Ce sont robes des filles. (la, les, 1Y)
Complelez avec les adjectifs démonstratife. (6x14=3)
k ~ [te, cet, celle, ces)
(@ ______ __ cuisine st petite.
0] —— papicrs sont importants,

(3)




() _acleur joue bien ses roles.
(d) ___ cahier est bleu.

(&) _ robe est helle.

(1) chaises sont COI’lIf{)ﬂ.ﬁle&

C4. Conjuguez leverbe ‘Nettover d affirmatif. (3)
C5. Complétez avec les adverbes de quantite. (3x1=3)
(heaucoup de. un peu de, combien de, plus de ..... etc.)

(a) : fleurs achéies-{u pour son anniversaire?
(h) Emilie aime les bonbons. elle mange ..
honhbons.

(¢) Ellea livres que Caroline.

C6. Mettez les phrases a la ferme interrogative. (3x1=3)
(a) Tu aimes la glace 4 la vanille. (I1I)
(b)  Elle voit un bon film americain. (1)
(c) Nous allons au ¢cinéma. (11)

C7. Mettez au [éminin. [2sel=2)
(a) 1l est musicicn.
(b)  Je vais chez le boulanger.

C8. Complétez avec les verbes ‘savoir ou ‘connaitre’, (2x1=2)
(a} .Je_. . prcparer un gdteau au chocolat.
() Nous __ ia France.

C9. Complétez avec les'préposiﬁnnﬁ de lieu. (4x142=2)

(a /en /au/ aux)

fa) Ellesvont ______ Paris ____ France.
(b} . Mes parents hablfent ___ Canada.
(¢) Leprofesseurest____ Aniilles, '

C10. Mctlez les phrases cn ordre. . (2x1=2)
(a) fromage / veux / pas /Je / de / ne.
(b} college / Mon / va / [rere / au.
SECTION-D [LA CULTURE ET LA CIVILISATION]

D1. Dites vral ou faux. [5X1=0)]

(a) Paul invite ses amis pour la fete,
(4)



(b)  Sophie el Marie sont amies.
(¢) Lyon est la deuxiéme plus grande ville de France.
(d) Les grands-parents d'Adeline habitent a la
Champagne.
([e)  Danicl va au Canada pour passer ses vacances.
D2. Cochez la bonne réponse. (6x1=5]
(a) Le plus hautl sommet de la France est :
(i) Le Mont Blanc (i) Les Alpes

(iiij LeJura

(b) En . la Bastille a &té prise.
(i) 1789 (if) 1968
(iii) 1942

(¢) La________divise Paris en deux parties.
(i) Garonnc (ii) Seine
(iii) Loire

(d) La féte nationale de la France est ;
(i) Le 14 Octobre (i) Le 14 Juin

(iii) Le 14 Juillet
(e) Inde estun pays:

()  magnifique (i) ineroyable
(iii) mauvais
D3. Reliez les colonnes. (6xe=3)
A B
(a Paris (i) L'hymne national

)
b) La Marseillaise

[ (i) unfromage
() Lindustrie de soie (iii) un monument
(d) La tour Eillel . (iv)] Lyon
(e) Noél (v) uneville
(i) Camembert (vi) une fete [rancaise
D4, Répondez: (2x1=2)

(a)  Qu'est-ce que Paul recolt comme cadeau®
(b;  Ou Francois, va-t-il?

(3]



SA-1 (CLASS-VII) 8/2016
SUBJECT : COMPUTER SCIENCE

Time : 2 hrs MM : 50

@1. Choose the correct answer and wrile it in the answer
sheet: (6x1=8)

(a)

Name the person who introduced the concept of Q
(zero)

(i)  Ada Lovelace (i)  Aryabhal
(iii) C.V. Raman (iv] Bill Gates

Rey combination used to gel the total of adjacent
cclls.

(i)  Ctrl + Enter (ii)  Ctrl + Alt + Enter
(iif) AL{ + = (iv) Sum ()

A symbol with which a formula always begins in
[Excel

(i) = (equal to) (i) +

(iff) * (tv)  /

Option used to restrict the cell entries within a
specified range.

(i)  Advanced Filter (ii)  Datla Validation
(iii) Pivot Table (iv)] Farm

Feature that allows us to arrange the given data

according to a particular field either in ascending
or descending order.

()  Seort (i) Data Form

(iii)) Filter (iv) Field

A device which converts the decimal tormat into its
Dinary equivalent.

(il Digital Computer (i) CeJ] phone

(iii)  Abacus (iv)] Pascal's Computer

(1)



(2. Give one word answer lor the following statements : (8x1-8)

(a) Base ol decimal number system.
(b) Name given to a row in a databuse.

(c]  DBullon on a form which helps to search a specific
record in a database.

(d)  Feature which provides easy way to enter or display
a complete row of information.

(e)  Number of digits used in binary number systemn,
() Number system that uses 16 symbols to represent
numbers,

()  Relerencing in which $ sign is used hefore the coltimn
name and row number.

() They are the input to functions which accept values
as nummber or text.

Convert the following decimal numbers into binary : (2x3=6)

[l 98 (b) 45
Convert the following binary numbers into decimal ; (2x3=6)
(a) 110010 (b) 101001

Answer Lhe following questions :

(4) What are Lhe rules to enter a tfunetion in Excel

workshee(? (4)

(b)  Write the rules to convert a decimal number to hinary,
(3)

(¢)  Whalis a formula in Excel? Explain with example,
(3)

(d)  How will you renaitie 2 sheet (ah? (3)
(¢) What is Pivot table? (2)
()  “xplain the utility of [iller [eature. (2)
(¢) 'in the oetal number systlem. (1)

(2)
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AUTOMOBILE $ALES REPORT - 2016

CARNAME | COLOUR | JAN | FEB | TOTAL
- SALES E@i SALES
- XUV-500 | Steel Grey. 60000 G%EOG __ o
SANTRO | White | 70000 | 70000
SWIFT White | 30000 | 76000
S:NIFT DESIRE Stlﬁﬁl Grey | 35000 | 40000 i
ALTO Red | 40000 | 45000 _
Lowest Total Sales
Highest Feb Sales |
Write the formula to calculate ‘totél‘ sales for }{UV
500. (1)
write the formula for the [ollowing : (2)
(1) Lowes( ‘total’ sales
(ii) Highest Feb sales
Write the cell address of the cell which contains :
(2)
(i) ‘Feb' sales of 'Swift’
(i) ‘Jan’ sales of ‘Santro’
When (he [ormula written in k4 is dragged down,

the cell address changes. Which type of referencing

is used here? (1)
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Name: ) M M : 20 Time : 1 Hour
Q1. Give one word for the following: ( 12X 14 =7)
a. The oldest Indian language
b. The forbidden city of Tibet e
¢.  The last World Cup took place in the year s e 8 iy _:
d. The Indian Batsman who is popularly known as
‘The Wall' | '
a. Sushil Kumar is associated with {he sport of =
, ‘Akbarnama’ is written by
g.  ‘AllIndia Institute of Medical Sciences' is situated in =
h. One who collects secret information about another
country is known as _
The planet which is not named after a God or
(a0ddess
j The capital of Egypt T
K, Ihe biggest residential building in India e _
. The ‘milK city’ of India _ .
m.  The seaport of Kochi is located in
n. The smallest union territory _
Q2. Give the full forms of the following abbreviations: (1x2 52)
a. MLA.
g.© NRE.L i
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Q3. Identify the famous personalities with the help of the description given: (2 x2=1)

a. He is popularly known as the ‘lron Man of India’. He was Home Minister and Deputy
Prime Minister under Pandit Jawaharlal Nehru. -

NI ww e 1

........ T e —

b. He was a (German dictator, popularly known as Fuhrer. He aspired to make Germany the
most powerful nation in the world. He ruthlessly persecuted and destroyed all opposition.

Q4. Choose the correct option: (2 x10=5)
a.Which style of embroidery is Lucknow famous for?
(i) phulkari | (iii) chikankari

(i) zlardozi. (iv) kantha

b.What do we call the fear of r:l-osed spaces?

(1) autophobia (ili) necrophobia

(ii) hydrophobia . (iv) claustrophobia
c.'Caddie tee and put’ are terms associated with the sports of

() chess (i) golf

() lawn tennis (iv) boxing

d.Which sport is Baichung Bhutia associated with ?
(1) wrestling (iii) shooting

(i) football (iv) hockey
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€.What is the study of the nature and function of human mind known as?

(i) Psychology (iii) Physiology

(ii) Neurology (iv) Biology
f.What is unit of measurement of heat?

(i) decibel (i) bar

(ii) hertz | ~ (iv) calorie

g.'Louvre’ is |
(i) an art gallery in Paris (iii) ajail in Paris
- (i) aseaportin Turkey (iv) the birth place of Jesus Christ

h.Gobi -desert is l[ocated in

() India (i) China
(i) Pakistan - (iv) Chile
.The Soviet cosmonaut, the first persan to go into the space on 120 April, 1961 was
(1) Yuri Gagarin | (i) Valentina
(1) Neil Armstrong (iv) Edwin Aldrin

J.The ‘Origin of Species’ is wrilten by
() Adolf Hitler (i) Adam Smith
() Rousseau (iv) Charles Darwin
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Current Affairs (1x5=5)

Q1. Which Indian women wrestler has won a bronze medal in Rio Olympics, 20167

Q2. Which day is celebrated as ‘Organ Donation Day’ in [ndia?

03. Name the typhoon which recently swept across Southern China and Hong Kong.

Q4.Which state has become the first state to give pension and food benefits to transgenders.

Q5. Who won Nelson Mandela Award 20167
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sA-1 (CLASS-VII) 9/2016
SUBJECT : SOCIAL SCIENCE

Time : 3 hrs MM : 80

General Instructions :

i)

ii)

iii)

iv)

v

pi)

Read all the questions carefully and number the
answers according to the questions.

Multiple choice question is to be answered in
the answer sheet only.

write all the ansiers in neat and legible
handwriting.

Attempt all the questions,

Write complete sentiences for question numbers
2 and 3.

Attach the maps properly to the main sheet.

vii) Questions carrying 3 marks should be answered

within 80-80 words.

piii) Questions carrying o marks should be answered

Q1.

within 80-100 words.

Each question has four options out of which only
one is correct. Choose the correct option and write

it in the answer shaet. (6x1=0)
()  Delhifirst became the capilal of a kingdom under

the |

(a) Slave ruler b) Chauhans

(c) Tomara Rajpuls (d) Turkish rulers
(i) _ ~ was the founder of the Mughal dynasly

in India.

(a) Babur (b) Jahangir

(¢) Akbar (d) Humayun

i



Q2.

(iii)

[iv]

The {erm BMP stands for =

(a) Royal Medical Practitioner i
(b) Registered Medical Practilioner

(e) Regional Medical Practitioner

(d) Rational Medical Practitioner

Joothan is an attobiography of the [amous dalil
wriler _
(a) B.R. Ambedkar

(b) Omprakash Valmiki

(c) Rabindranath Tagore

(d) Rashsundari Devi

The depositional feature of a river is known as

(a) Moraines (b) Delta
(c) Loess (d) CuLlf

Thermometer is used to mecasure

(a) Rainfall
(h) Direction of the wind
(¢) Temperature

(d) Atmospheric Pressure

Correet the following incorrect statements @ (6x1=6)

(a)
(b)

Land gifled to Brahmanas was called Devadana.
Razia Sultan was the daughter of Alauddin
Khalji.

The Civil Rights Movement began in Europe.
Chief Minister is the head ol the state.

Loo is an example of permanent winds.

The uppermost layer of the carth is called core.

[£)



Q3. Answer the following questions in one sentence cach:

=

G4,

@157

Q6.

Q7.
Q8.
Q9.

Q10.
Q11

(8x1=8)
(a) ‘He is famous [or Arabic work "Kitab-al Hind',
- Name him.
(b) Deftine ‘Hinterland'.
(c) Where did the religious discussions take place
during Akbar's reign?
(d) What is a coaliion government?
(¢) It is considered to be one ol the healthiest
countries in South America. Identify it.
(f)  Give two examples of melamorphic rocks.
(¢) Which machine is used to measure earthquake?
() List any two [orms ol precipitation.
Who was Mahmud of Ghazni? What were the causes
that led Mahmud of Ghazni to attack India? (1+2=3)
What important steps did Akbar undertake to improve

the collection of revenue? (2)

Who were mugtis? What were the main duties of

the muqtis? (1+2=3)
Write a shori note on Private Health Facilities. (3)
How is an MLA elected? (3)

Define equality. Explain the ways in which the
government has tried to implement equality.
(1+2=3)
Distinguish hetween weather and climadte. (3)
It is the uppermost and thinnest layer of the carih.

Identify the layer. Briefly explain its features. (1+2=3)

(3)

)



Q12. Explain the dilferent processes involved in the
lormation of landforms on the surlace of the eartn.

(3)
Q13. Discuss the main featurcs of administration of the
Mughals. (5)

Q14. Briefly discuss the developments made by the Cholas
in the field of agriculturc during the medieval period.
(5)
Q15. What is midday meal scheme? List any four posilive
cffects of this schere. (14+4=5)
Q16. Define igneous rocks. Distinguish between the two
types of igneous rocks. (2+3=5)
Q17. Explain the features formed by the work ol a river,
(5)

Q18. Attempt the following maps :
(a) On the provided peolitical map of India, name
and mark the following : (4x1=4)

) Place that witnessed religious discussions during Akbar reign

i) Temple built by Cholas

)  Place where Tripartite struggle was fought

iv)  Place that witnessed the battle between lbrahim Lodi & Babur

(b) On the provided political map of the world, name
and mark the following . (4x1=4)
() The country with large deposits of loess
(i) Country with the deepest mines |
(i) Largest fresh water lake in North Arnerica
(iv) The highest waterfall in South America



